(x+3)2-4x2=0
PCIICHUC paB6I/IBa€TCH Ha OTACJIBbHBIC CIIyYadH.
Cnyuaii 1 .

X+3=2X
X+3-2x=0
-x+3=0
-X=-3
X=3

Crnyyqaii 2 .

X+3=-2X
X+3+2x=0
3x+3=0
3x=-3
x=(-3):3
x=-1

oTBeT: X=-1;X=3

x2+3x+2:O
Haxonum auckpuMuHaHT.
D=b2-4ac=32-4- 1-2=1

I[I/ICKpI/IMI/IHaHT IMOJIOKUTCIICH, 3HAYUT YPABHCHUC UMCCT JIBa KOPHA.

_-bxD

*127 2a
-3-1 -3+1
X\ =21 2X%=q 1

OTBET: X=-2;X=-1

pemmM JICBYIO YacCTh.



3 2
a -64 a +4a+16)(a-4
+4a —( >( )+4a =(a2+4a+16>+4a =a2+4a+16+4a =
a-4 a-4
=a2+8a+16

Pemm npaByto yacTsb:

(a+4)2 :(a+4)2 =a’+8a+16
B pesynbrare nosyyum:

a2+8a+16 =a2+8a+16 JI0Ka3aHO



